EARAROBEEIERT — 2 N— IBISH —F

2

0165128318 (£) 9EIKIREH

m C1=#8 5% B
[AE4£] 1% :160,000  ~ 23#%:32,000 ™  33%&:16,000 M . 43&:12,000 57 :4,000 §
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
e s 4 3 | R/OB— 1:43.6 5-5-3-3 [ 39.3| — 6 517 | #HET (KR)
115|5 Jah 56.0 (=) (-5) ey
REATAT v — B =Lt — () #HBI-—KL—Y a3 AETy
. _ BE :43. -p-1- 9| - WILES (%)
2 6 S e =—TIT % 3 S 1(423)9 2-2-1-1 | 39.9 1 423)7 ,Jﬁ\* =3
L:O—Y X124 B:T54747ITILT bree]
o= 4 3 | HER 1:44.2 1-1-1-2 | 40.3| — 2 503 | HER= (B%FH)
3/1]1|7z=v b 5470 (1 1/2) (-3 | TR
LIV INATA—H— B4 —-FTHE~ &SRS
= o S 1 | BERRE 1:44.4 3-3-3-4 |40.2| — 7 499 | AR (KiR)
4177 JVXT47EY b 56.0 (11/2) “+7) ?—ﬁ%‘@?/
R:TITRATFIZI B:7VZXTF1%vv b EvJdLy RTp—L
N g M5 | EREEHE— 1:44.4 8-7-6-6 |39.7| — 8 483 | /NEEEAE (M)
] 4| *7APE—F 5.0 ) o) | EENIA
L:TSATXa44 L BNt/ NIvh> b KiLHH
N . B o6 | EIATE 1:44.6 4-4-3-5 |40.4| — 5 452 | BIWfE— (KiR)
6|8/ 9| AT~7V—%— 54.0 @/4) o | ER=8
R:VZRAB—IZRE— B:TXNEZE—F— TERS
B4 | BKtE 1:45.4 5-6-6-9 | 40.7 | — 10 | 462 |EEHEZ (OKR)
7 2 HhLkeT 52.0 (5) (0) EE—
R:2914 7 hHLP b B:O-WI-ZX—-> HE77—L4
. 3 o7 | WLABER 1:45. 10-9-9-8 [40.0 | — 4 474 | FEILES] (B3FE)
3 3| NV LR—A 56.0 (7€) -3) %1 18
R:ANSNYZ YL F-O-—4 by e ]
- = N 4 g | BRIRE 1:46.3 9-10-10-10 | 40.8 | — 9 474 | REEFD (KR)
9|8[10| T¥Y=>7 17 0 ® Ly | AT
R:TZ2T 88— BYIYZLRT 1T — SRS
5 = o5 | WA 1:46.7 7-7-6-7 | 42.0| — 3 477 | EBEHE (OKR)
10f7|8|E2—R75—F 0 2172 =
L:F=TA42nN7 ~ B:xv )7L 703> J—HrTr—LA
® 1—F—@EBIERL
1T=7r= 1,6,7,9,(2,5),8,4,10,3
23—74— |1,6,7,9,5,2,(4,8),3,10
== (1,6),(5,7,9),(2,4,8),3,10
43—+ — 6,1,5,7,9,4,8,3,2,10
[ N5
B 5 3,480 714K 5-6 390M e E 5-6 1,610M JEE 1-5-6 500
B B 5 250/ =5 500M B = 5-6 1,580 EE 5-6-1 13,660H
6 100M 1-6 120H B H 5-6 6,740M
1 1009
ABICOVWTRHDTERERRODLDE, THERLE,



